Fa4mE LEHRERAKE RS Vo bh—BE AR
D# M 20234 8H11H (4)~13H(H)

2 % AT 7 4—)VR (RERE) AR
Bl ke it (RIRE) DA
HIRKA AR Z B IR (CRIRE) AR5 1
Hride e R EEh L (RAKE) AR RS
FBIRAR — Y AR % B HEEN LG =)7 (N TE) DA
RAHE
H |&s = % FE Bl | BAAGRERT *t B i &
A | BrEedBRER LY | BES 7| 10:00 Iy VS IR 1 5] B
118 | B |aiRkaamzEmEs| eS| 10:00 L VS )1 R AR TE R
@) [ 4| zvr7—nr | bEBET]| 10:00 R I VS R ZER)—2
o | Friile B | | 10:00 L VS FEIF IR 1 [\l HE
C |ampaamzamEs eER 7| 10:00 R IR VS ADBEE R ER
0| AUT4— AR | DEBT| 10:00 EBPIR VS I ZERIV—7

1&5)' o~ | B R B LB | AR 7| 10:00 | LR Vs TR | ZA—2
W | BRARIEB )T | 44T | 10:00 &R VS HOWEE 2 |a] g

5 iR ibE Lgitds | D4 &+ | 10:00 AR VS A 2 In] Hk

AT T 4—VR | DEFA| 10:00 BT IR VS Faplly = ZEHNY—7

A | HrHEA EEE LY | AAER | 10:00 =B I S & LR RN —7
Z | i WkE_ EEEY | D4ELF | 10:00 WOREE VS IDWEH PRIV E

E) _UFIE EBERO LT — 203 T I Mo TEMIET S,
BE A AEhE
VS %S B IR

Ch— %

REPIR
R

HILR .
B [—— fts (11115
)11 |

VDG F D B R

Eeplil

= N\

KB H IR

VAT DHR FEEIN )

I
REFIR
A1 B
TR I

(=3




! A

" R

(. B B FDEB i RERE 2
I Nl e F=IN 74%%% =N VT BN
RS A [T e | 0 7 £
BE | 1 T & | pE &6
EiEH) o [KEFIE | 3 EEAE B8 [5=1 58 aw
=35 | 10:00 | EERE g2 | mh faa
118 | & 10: PK FEam| =B
(&) ERILE B ® Bl | 1 YvF | Bif BA
Ha = B2E 1 T T/ EEE
NEZE | BIE |0 SEERF AlE [@E1 B0 ==
o el B R g2 | Rk
WIS | 10:00 | & bk i B EAR
N Bl NvF
SRS C | Pk E
5 |am=s x| FiEIE BEnE K8 [0
ML | 10:00 | & mEt 2E2
71> 3| . 3
[ 255708 | A& 2 DEBTRES
[(H0 [ =6 (o= B FL TBREE F—L wF EIE ] B RE
= Bl 0 XVF | e B 3 [0 COB5
1| 22> | 1 || apseaim B |1 _ E B | BROE || 2 PKARCEEHS
. v e SERAE SHIE (5= wm m=w | | 1 Pootciear
@) |Prnkfr 1| AR | 6 anE wHIR f8) e | o
10:00 | , PK E4E WE T8
%= Ea NyF S R
X'j\/ D A '?é:_:'f , _ _jzﬁ_ﬁ% i iy
J4=ILR I\J EE?L'E‘ %é;i *E#E EH%; Bla | B2tan
12H 10:00 | 4 PK %4§ F=L| e | oo |VBAL
(L) e n z Al 3 NYF
’ au B ESE-
BED )| ER EEmE AR (&= wR( 3 -
53 | 10:00 |, ERE ‘%%é
K% -
— |% ﬁgi 375%1
S _ al ®%F =
i | BRI EEm AR [oe] sl o
- SEEEE S
13H 10:00 | » pic Tes
s z Bz NYF alll -
EET) )| REFIR EEIE SR (9= | o
= : P FIES 2 -
51 | 10:00 |, oK e =
(. DELFDER i R 1
Frsth 1 gl | 1 XUF | D98 S
11 ) - R ERE IR
(i | |l IR 4\ ) 2| REPR gy et
=] . Bt =2} =l IS
4% | 10:00 [k PK BAE | B Ofh
= 28 e mh F=IN iﬁﬁ%i =N VT BN
2 Bl XYF
RANE| V(20 e B —ig I
iy = fEHIR s SR (e
128 7 | 10:00 [# = ;gﬁg
() |wogm | 5 |2 5 7
R LR =) AR LEAE FRIR (a1
15 | 10:00 |# HER %J%%
3 _ L RS = NYF
F b N il B S - = B Bl <
2 ) i B ]
H pown =
&)1 sz 1000 . =) L = Sﬁ%




